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Transistor Table

Resistors Cc4 85pF gll Coils and Transformers Transistor E’}’\i})ter ]%%,S)e Co}(l\e,‘;‘or
Cs — L
R1 5:6kQ2 A2 C6 00IuF B1 L1 — Al
R2 30kQ Bl C7 0-01uF Al 12 — Cl NKT72 1
R3 12kQ Al &4 10pF Al L3 8Q A2 TRI < 2SAl5 068 | 078 | 52
Rra 75kQ B2 &5 200F Bl T — A2 2SA201
RS 5000 Bl c1o 00 Al T2 — B NKT72
Rh 4kQ A2 &l AN T3 — B2 TR2 <2SA12C | 026 | 04 32
R7 24kQ B2 Cl2 310pF Al T4 — C2 2SA202
RS 4-7k2 B2 Cl13 . Al NKT73
RY 1k Bl cla = ) TR3 <2SA12A | 065 | 08 53
R10 47kQ B2 Cl15* SpF B2 Miscellaneous 2SA198
R e A Cls  3mk B2 1N60 TR4 | 23A1%5
R1{2 . 5 — — —_—
R13 680Q  ClI Gy 00E B Dl{ggzlg o3¢ } A2 2SA160
R14 k2 Cl Cls  00mF B2 S1.54 R TG48
RIS 5002 C2 C20 0-02uF B2 S5 Al NKT275
Ri6 1000 C2 ol 14pF B2 - TRS < 2SB75C o8 | 123 | 225
RI7 18kQ  C2 22 004uF Bl 2SB270
R 1002 C2 23 . B2 NKT274
RIY 175k Cl G4 00F  C2 TR6 < 2SB75B 207 | 225 | 48
R20 100£2 C2 C25 0-02uF B2 25B270 {
it He & 28 e €l TR {oon778 30 32 60
RVL sk Al g% 1(3)8”5 gil’- ¥ When Sanyo tramsistors are 2SB187 “
P 1 fi:ted in positions TR2 and TR3
Capacitors C29  5000pF  C2 CI5 is 6pF and C21is 9pF. TRS* 4 Doaran — 1 o1s b o130
Cl — Al C30 120pF Cl SSB187
= o c31 1000F  C2 I
C3 —_ Al C32 100uF 2
* Muicned pair.
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CIRCUIT ALIGNMENT

Equipment Required.—An a.m. signal
generator; an r.f. coupling loop and two
0.1F capacitors.

1.—Switch receiver to m.w. and tune to the
high frequency end of the scale. Set the
volume control at maximum, Connect
the signal generator, with a O.1pF
capacitor in each lead, between chassis
and the switch side of C6.

2.—Feed in a 470kc/s 30 per cent modulated
signal and adjust the cores of T3, T2
and T1 in that order for maximum audio
output.

3.—Connect the signal generator to the
r.f. coupling loop and loosely couple the
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loop to the receiver by placing it about
15in from the ferrite rod. Tune receiver
to 500m. Feed in a 600kc/s signal and
adjust the core of L3 and the position of
L1 on the rod aerial for maximum output.

4,—Tune receiver to 200m. Feed in a
1,500kc/s signal and adjust C11 and C1
for maximum output.

5.—Repeat operations 3 and 4 until the
calibration is correct, then seal the
position of L1 with polystyrene dope.

6.—Switch receiver to lL.w. and tune to
1,800m. Feed in a 170kc/s signal and
adjust C10 and the position of L2 on
the rod aerial for maximum output.
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7.—Tune receiver to 1,200m. Feed in a
250kc/s signal and adjust C3 and C2
for maximum output.

8.—Repeat operations 6 and 7 until
tracking is correct then seal L2 with
polystyrene dope.




